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The figures in the nght-hand margin indicate marks.
Candidates ure reqguired to give thetr ansiners
in their own words us fur as practicable.

IMustrate the answers wherever necessary.

COM-405.1

{ ADVANCED COST ACCOUNTING }

1. Answer any two guestioms from the following :
Zx2=4

) Pass the journal entries of the following
transactions in Cost Book under integrated
system of hookkeeping
i) Purchase ol raw material from

R. Tripathi amounting ¥2,25,000 as on
12.4.2023.

/439 { Turni Over )



8]

()

/439

{2)
(1) lssue of direct material from Steres o
Production Centre of $1.532,000 as on
21,4 2033,

Write the unplication of Marginal Cost
eguation.

What 1s Depih of processing?

Is there anv difference bBetween Marginal
Costing and Absorption Costing?

. Answer wny two questions from the following

4x2=8

[ustrate the effects of the following on the
breakeven pomt and on the profit-volume
ratio under Cost Vvolume Prolit analysis in
Marginal Costing,

(1} Decrease in variable cost per unit.
ity Increase i 1he seiling price per unit.
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(3)
The following data arce available in respect
of Process-I for the month of Mayv, 2023 .
Stock at 1st Mav : 600 units valued at ¥390
(Degree of completion: Material 60%, Labour
50% and Overhead 40%)

Introduce in Process-l .

4200 units valued at 1,560
Direct Material added in process ¥776
Direct Labour 386
Production Overhead 2768
Transfer 1o Process-I] F3,630
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Stock at 31st Muy, 2023 : 800 units (Material
804%, Labour 70% . Overhecad 60%) Units
Scrapped : 350 units (Degree of Completion :
Material 100%. Labour 80% and Overhead
80%%)

Normal Loss is 10" of tolal input (Opening
Stock plus Unils mtroduce)

All units scrapped can be sold for ¥0.10
per umnit.

You are required Lo prepare a statement
showing the cost per equivalent unit of each
element of cost. 242
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(4)
What is Jomt Product? Brieflv explain the
Net Sales Value method of aliocation of

Joint Cost. 1+3

From the foliewing information. prepare
Store Ledeger Conwrol Account and Wages
Control Account under Non-Integrated svstem

Muterial Contro! Account

opening balance ¥1.24,000
Material purchascd <4.80,000
Dircet Matersal issued

1o production 24,777,000
Material purchasced directly by

production centre ¥ 30,000
Matcrial for work mamtenance 241 200
Material lost by fire ¥ 20,000
Teral Wages paid ¥2.70.000

(Direct ¥2,00,000, Indirect 60,000, Normal idle
time 10000) 232

/439

Continuec
Cont {



{5)
3. Answer gny ene quustion from the following :
8:x1=8
faj Product X passes through two processes
befare it is transferred to finished stock, The
following mmformation 18 obtained for the
month of May, 2023 :

Process-I Process-II Finished

Stock
(3} (%) (7}
Opening Stock 8.000 14,000 20,000
Direct Material [.50,000 25,000
Direct Wages £0.000 35,000
Manufacturing 30,000 20,000
Overhead
Closing Stock 4000 15,060 30,000
Profit™ on
transfer 20%, 10% —
Price to next process
Inter-process
profit for opening
stock 1,400 2,700 6,000
Stock In processes is valued at prime cost

and finished stock has been valued at the
price at which 1t is received from Process 11
Sales during the period were ¥4.00,000.

Prepare Process Cost Accounts showing
profit element al each stage. 8
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(hj From the following particulars, {ind the most

profitable product mix and prepare a

statement of profitabilitv of that product mix :

Budgeted units
procduced and sold
Selling price per
unit {4
Reguirement

per unit

Direct Material
Direct Lalrour hour
Variable overhead
Fixed overhead
Cost of direct
material per kg
Direct Jahour

rate per hour
Maximum demand
{units)

Minimum to be
produced (units)

Produast

i

100

000

200

Product

B

3000

on
Ui

3 kg

3 hrs.

=13
12

]
i

Product
C

1200

0

4 kg

&

vl

Iirs.
¥
]

All the three products could be produced
from same types of material, labour and

machine. Availahility of direct labour hour

1s restricted in
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18600 hours.
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COM-405.2

4. Answer any two guesuons from the follewing -

DBty

fa) What is a principal budget factor?
(b) What do vou mean by Activity Based
Costing?
fc}  What is Standard Couar?
{d} What do you mean by Target Costing?
5. Answer any two guestions (rom the tollowing :
AxD2=8
() Explain briefly, the rnain steps in budgetary
control.
{b} State the marn reasons for variance
analvsis.
fci Briefly explain calendar variance and
capacity variance iy case ol fixed overhead,
(d} A factory 1s currently running at 50%
capacity and produces 5,000 units at a cost
of T30 per unit as per details below :
Material <250
Labour 15
Factory Overheads 15 (T6 fixed)

Administrative Uverheads 10 {35 fixed)

The current selling pric: is T 100 per umt
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Al 60% working, material cost per unit
increases In 2" and selling price per unit
falls b 27s
At 80% working, material cost per unit
incresses Hy A0 and selling price per unit
falls T 370

Estimate profits of the factory at 60% and
80% working and offer yonr comments,

6. Answer any one question [rom the following

8«1=3
faj Write short notes on the fellowing
fi)  Zero-base budgeting: and
(i) Periormanos budgeting. G+

(hj  fi) From the ollowing cost data, caleulate
the fixed overhead variances,

: Pmm ular ; S dewe‘fcd Actual
No. of WO lx_mq davs | 20 22
'\hm hours ptz ey 3000 | 8400

f)utpm Fm man hour
1 uUnits 1.0 . 0.9

(Overhead cost (71 1 50, OO(J ' 1 68 OO(J
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i) A company producing two products
furnishes the following information for

A year :
‘Product B A B
‘Armua_l ')utput (Lm]tsf 3066 7:776-0_-060
“Total machine hours )oo J_E)_ _"75666{5'
“Total number of purchase f__ o
jorders 160 1 384
Total number of setups 20 | 44

The annual overheads are as under
Volume related aciiviinv costs $3,50.000
Set-up related cosis < &,20,000
Purc:hasc related cosis <6.18.000

You are required to calealate the cost per unit
of each product A ana B based on 4+4

(1} Traditivnal meihod of charging

overheads.

(2] Activity bascd costing method.

[ Internal Assessment : 10 Marks |
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